‘Impor\-on\' Facks
*+ 1§ G=(V,E) © & graph, the -Fb\\owinos
Stokewunts ave equivalent. (Le-t n:lv\)
(V) G is & ¥ree.
0-) G is connected and ac-ac.\ic, .
(8) G is comnected and hes n-\ edﬁe'a,
o« I G = CV,B) % a dbfup\& i e %\\ouha
ave also en‘viva\cnf,
() G i compiete.
(2) G hay N(n-1D/2 edges,
(3) & Eveﬁa vertex W G has &cﬁuc
n=-\.
+ Hypercubes in n dimensions . .
. Have 2" vertices
. Hoeve n-2"" edges
¢ Ave biparhite
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Trve or False - l}B 3 |_J

() A\‘\'O Puir of vevihices n & tree are
connected bn Qxac-ﬂa one path

(») AAA;I‘% an ed%e vetween t+wo verhces
of a tree Creatres o cycle.

(c) Adding an eo\cae in & connected %rapk
crveates eXac-Hb one vew cycle .

(a) Tvue. Lexd T Ve a dvee ahd Vv,,v,
verkices . T i conmected o thave s &
pq_-\\f\ between v, and Ve - I8 we wnave
Jwo pathy, then we (an %cmy.i—g
a cytle, condved icted by the fact HAat

/P

. o
" v v"
AN L)
"2

(v) Trve. Adding aw edqe intveduces a new
PoAWw Wit Ot%t'w\ .seu\mks a cuc\e

as o\voave,
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(D False.
oelow *

|

See W counter CXample

(o

Cd

T

new cclcsc

Original 64563-

The ¢Qveen ecljc. c)mrd'ﬂ Z vew

C&So\ts .
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B'\par-\-\'\‘c G'raP\l\ \25 ¥ 2 ]

A cbrq?\n 'S \o'\\oqu\‘e it we can spWt
ts verrices w¥o two hbf\tmm sets
suctw +hat e,vend e.al%e, in the %Vap"\
connects vevtices in ditfevent sets

| o o L
3o o 4
5. .6

Prove that a liparkite graph contuing
no tours of odd \eng th.

In orvder for a wolk o be a tour, ¥ needs
jo skavl and end a¥ e Same verdex.,

Obsene *That every walk n a bipartite
%u?\n. mvyt alder nate vehween red ond
blue Verdices. Thus in order fo end up
wWve we stavied , we need o falke an

even numoe! of stepe. Thus every Your
mvst have an even length
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Eulerian Tour /Wa\\( [7.15 3

g

50\ G

z ¥

(> Does Hae graph have an Evler Tovr?

No, verdices 3 and @ have 0dd
deavec.

(©) Does W whave an Evier walk?

Nes.
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Odd Degree Vertices LR # '-1

Let G =(V,E) be an undivected 3”“?"‘
Prove Yhat G has an even nwvmbver of
verticey with odd o\cc\\nc.

Suppose G has on odd number of vertices
w] odd o\canc. We¢ know that

Z_ Aeﬁ(v) ¢ 2\E) is even;

vev

since thve ave an odd number of wvertices
with od & degree , this means et the
sum 6f the degrees o all verdices must

be. 0dd ) condva dictiom |
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